W@’ Faria 6 Gauge Box Set 1S0334
Rev A ecr 8734 4/2012
CAUTION: Disconnect the battery during installation. Tighten nuts on the back Part Number
clamp only slig.htlly more tha_n you can tighten with your fingers. Si)_( inch-pounds of KT9797 KTF001
torque are sufficient. Over tightening may result in damage to the instrument and
may void your warranty. Gasket cement or other adhesive is not required to secure KT9798 KTF003
tubing to fittings. KT9799
Use stranded, insulated wire not lighter than 18 AWG approved for marine use.
Be certain wire insulation is not in danger of melting from engine or exhaust heat or
interfering with moving mechanical parts.
PARTS LIST
Speedometer
QTY Description
1 |Speedometer - Mechanical 1 o
1 |Mounting Bracket 2
Hardware 7\
2 |#8 Brass Nut 3 °
2 |#8 Brass Flat Washer 4 S ICIE]
2 |#8 Split Washer 5
Tachometer
TY Description
Q1 Tachometer - 1 ©
1 [Mounting Bracket 2
Hardware o
7 |#10 Brass Nut 3
4 |#10 Brass Flat Washer 4 - ICICICIE;
4 [#10 Split Washer 5
Fuel Level Gauge
QTY Description
1 [Fuel Level gauge 1 0
1 [Mounting Bracket 2
Hardware (1)
6 |[#10 Brass Nut 3
3 |#10 Brass Flat Washer 4  ICICIE]
3 |#10 Split Washer 5
Voltmeter
QTY Description
1 [Voltmeter 1 9
1 |Mounting Bracket 2
Hardware (4
4 |#10 Brass Nut 3
2 [#10 Brass Flat Washer 4 - I@IE)]
2 |#10 Split Washer 5

English 10f5



1S0334

Water Temperature Gauge

QTY Description
1 |Water Temperature Gauge 1 ©
1 |Mounting Bracket 2
Hardware Yo\
6 |#10 Brass Nut 3 0
3 |#10 Brass Flat Washer 4 o @@@
3 |#10 Split Washer 5
Oil Pressure Gauge
QTY Description
1 |Oil Pressure gauge 1 9
1 |Mounting Bracket 2
Hardware o
6 [#10 Brass Nut 3
3 |#10 Brass Flat Washer 4 9@@@
3 |[#10 Split Washer 5
Pitot Kit
QTY Description
1 |Pitot 1 ° © \’/ 6 ggg
1 |20' Pitot Tubing 2 \@
1 Pito.t Tubirmg Clamp 3 o (ﬂga (‘{i 0o 77
5 |Tubing Clips 4 ("S\ (ﬂg
3 |Self Tapping Screws #8 5 (= (=
2 |Stainless Steel Screws #6 6
Light Bulb Replacements Light Assembly
Speedometer GE No. 194
Tachometer GE No. 194
Fuel Level Gauge GE No. 658
Voltmeter GE No. 658 [Font Socket
Water Temp Gauge GE No. 658 %@
Oil Pressure Gauge GE No. 658 Light Bulb

English

2

of 5



1S0334

Installation Gauge Hole Dia.
1. Disconnect the negative battery terminal. Speedometer |85 mm (3.375in)
2. If you are not replacing an existing gauge in the dash, locate a mounting Tachometer (85 mm (3.375n)
location for the gauge(s) that provide easy readability from the operator's Fuel Gauge 53 mm (2.063 in)
position. Verify there is enough workable space behind the mounting Voltmeter 53 mm (2.063 in)
location to install your gauge and make connections if necessary.
i ) Water Temp 53 mm (2.063 in)
3. Cut a hole in the dash for each gauge. Use the chart to determine the

4. Install the gauge in the mounting hole and check fit.

5. Mount the gauge(s) with the mounting brackets using the split washers
and brass nuts as shown on the next page. Tighten the nuts finger tight
using only 6 inch pounds of torque.

Warning:

Do not over tighten the mounting nuts. Over tightening the nuts may crack
the gauge housing, mounting bracket or mounting panel.

6. It is recommended that insulated wire terminals, preferably ring type be
used on all connections. Light assembly connections require 6 mm (.25 in)
female blade terminal.

Speedometer/Pitot Connections

1. Locate and install the pitot tube assembly on the

Light Assembly transom in a vertical position, at least 153 mm (6 in)
Blade Terminal (-) away from the propeller blade tips. The intake hole must
(Ground) o also be 38 mm (1.5 in) or more below the bottom of the
(3.375 in) dia. hull. Do not place behind any runner or keel, as this will
affect its accuracy.

Blade Terminal (+)
(from lighting circuit)

2. Locate a convenient place above the water line to bring
the tubing through. Drill a 6 mm (.25 in) hole at this
location and pull the tubing through. Use a marine
sealer on the cap plate and draw the plate tight against

é the transom using the screws provided. Press the tubing

Tubing fully onto the male fitting on pitot assembly. Gasket

cement or other adhesive is not required to secure

tubing to fittings.

Detail A

3. Run the tubing along the inside of the boat’'s gunwale.
Avoid sharp turns, crimping, kinking, or other forces that
may reduce the inside diameter of the tubing. Fasten
the tubing at regular intervals with small plastic clips
supplied (again be careful to not pinch the tubing). A
slight downward slope from bow to stern will help avoid
trapping water. Do not coil any excess tubing, as it
should be cut to the desired length.

4. After installing the speedometer in the dash, cut tubing
(leave a small amount of slack) and press fully male
fitting on the back of the speedometer.

38 mm (1.5 in)

English 3of5



1S0334

Tachometer Connections

Using a small screwdriver, SLIGHTLY depress and turn
the selector switch on the back of the tachometer to the
correct position to match the number of cylinders (see
label on the side of the tachometer). Depressing the
switch too hard may cause damage to the tachometer!
Be sure the selector switch has locked into the detent at
the correct position by slightly rotating the switch back
and forth with the screwdriver.

Blade Light Assembly

Terminal (+)
(from lighting circuit)

Adjustment Pot

N
Ignition Terminal (+) (BAT) e (k Signal (SIG)
(from ignition switch) Ground (GND)

Fuel Level Gauge Connections Voltmeter Connections

Blade

Terminal (+) X
(from lighting circuit) * 4

Light Assembly Blade

Terminal (+)
(from lighting circuit) ¥

Light Assembly

53 mm (2.0625 in) dia.
Ignition Terminal (1)
(on ignition switch)
Ignition Terminal (+)
(on ignition switch)

Signal Terminal (S) ~

Ground (GND) Ground (GND)

Special Caution should be taken when working on or around tanks that have, or have had fuel in them.

Water Temperature Gauge Connections Oil Pressure Gauge Connections

Blade

Terminal (+)
(from lighting circuit)

Light Assembly Blade Terminal (+)

(from lighting circuit)

53 mm (2.0625 in) dia. 53 mm (2.0625 in) dia.

Ignition Terminal (I)

Ignition Terminal (1) on ignition switch)

(on ignition switch)

Pressure Sender
(Not included)

Temperature

Sender
(Not included)

Signal Terminal (S) Ground (GND) Signal Terminal (S) Ground (GND)

English 4 of 5



1S0334

Selecting the proper Sender
Senders are designated by the following descriptions and must be selected in combinations of one each from A, B, & C.

(For example: Single station, American resistance, Standard ground)

A Stationa Single
Dual
b -
B Resistance American
European
c Ground® Standard
Floating

Notes:
a. Station: Itis the sender that is unique in a dual station application. The gauge is the same in either single or dual
applications.

b. Resistance: Choose your sender to electrically match your gauge not just the manufacturer. Some sender
manufacturers make both resistance types; and, some instrument manufacturers may use either resistance type
depending on the gauge. There is usually no visual way alone to determine the resistance type.

c. Ground: Standard ground is the most common having battery negative (-) connected directly to the engine block.
Sending units may have one (1) terminal (signal). In a floating ground system, the battery negative is not connected to the
engine block so merely threading in the sender does not supply ground. Floating ground senders will have two (2)
terminals (signal & ground). Both sender terminals may be wired to the appropriate gauge terminal or the sender's ground
may be wired directly to the battery negative. A floating ground sender may be used in a standard ground system but not
vice versa.

Oil Pressure Senders

Engines or transmissions equipped with a low oil pressure switch that activates a warning light require an appropriate “T”
pipe fitting to accommodate both pressure sender and warning light. Most oil pressure sending units have 1/8"NPT pipe
threads and are usually mounted in the engine’s block. If the block or transmission case has a larger pipe size, an
appropriate bushing may be used without affecting pressure- sensing accuracy.

Temperature Senders

Temperature senders are available from Faria® Marine Instruments in 1/8’NPT thread sizes. If your water jacket, oil pan
or transmission housing requires a thread diameter larger than 1/8’"NPT, a bushing will be required. “T” fittings should NOT
be used as these may affect the accuracy of the sender by reducing the temperature signal.

English 50f5




1S0334

W@) Faria 6 Manomeétre Trousse Frangals

(French)

Pour les moteurs Inboards

ATTENTION: Débranchez la batterie lors de l'installation. Serrer les écrous de la Numéro de piéce
bride arriére seulement un peu plus que ce que vous pouvez serrer avec les doigts.

. . ; ) A KT9797 KTF0O1
Six pouces-livres de couple sont suffisants. Un serrage excessif peut entrainer des
dommages a l'instrument et peut annuler votre garantie. Joint de ciment ou autre KT9798 KTF003
adhésif n'est pas tenu de fixer la tuyauterie aux raccords. KT9799

Soyez certaine isolation des fils n'est pas en danger de la fusion de moteur ou
I'échappement de la chaleur ou d'interférer avec les piéces mobiles mécaniques.

Utilisez bloqués, fil isolé, pas plus léger que 18 AWG approuvé pour une utilisation

marine.
LISTE DES PIECES
Speedometer
QTE Description
1 |Speedometer - Mécanique 1 o
1 |Support de montage 2
Kit de Materériel (- YOI6)
2 |#8 Ecrou laiton 3
2 |#8 Rondelle plate en laiton | 4 00O
2 |#8 Rondelle de Split 5
Tachymeétre
QTE Description
1 |[Tachymetre 1 ©
1 |Support de montage 2 0)\0)\0)
Kit de Matereriel o
7 |#10 Ecrou laiton 3
4 [#10 Rondelle plate en laiton| 4 o @@@@
4 |#10 Rondelle de Split 5
Jauge de carburant
QTE Description NP
1 [Jauge de carburant 1 ©
1 |Support de montage 2
Kit de Materériel (4)
6 |#10 Ecrou laiton 3
3 [#10 Rondelle plate en laiton| 4 S ICICIC)
3 |#10 Rondelle de Split 5
Voltmétre
QTE Description .
1 |Voltmetre 1 ©
1 |Support de montage 2
Kit de Mate'zrériel . 0
4 |[#10 Ecrou laiton 3
2 |#10 Rondelle plate en laiton| 4 9@@
2 |#10 Rondelle de Split 5

Francgais 1de5



1S0334

Jauge de température d'eau

QTE

Description

3 |#10 Rondelle plate en laiton| 4

1 |Jauge de température d'eau 1 ©
1 |Support de montage 2
Kit de Matgrériel (4
6 |#10 Ecrou laiton 3
3 |#10 Rondelle plate en laiton| 4 - 1CICIE]
3 |#10 Rondelle de Split 5
Manomeétre d'huile
QTE Description
1 |Manomeétre d'huile 1 9
1 |Support de montage 2
Kit de Matgrériel (4
6 [#10 Ecrou laiton 3

CICICIE

3 |#10 Rondelle de Split 5
Kit tube de Pitot
QTE Description
1 |Pitot 1 © \“a 6 ggg
1 |6 m Tube de Pitot 2 \_/
1 |Bride de tube de Pitot 3 o (= (= o 7
5 |Tube Clips 4 ("S\ (ﬂg
3 |Self autotaraudeuses #8 5 (= (=
2 |Vis en acier inoxydable #6 6
Remplacement de I'ampoule Assemblée lumire
Speedometer GE No. 194
Tachymétre GE No. 194
Jauge de carburant GE No. 658 Socket lumibre
Voltméter GE No. 658 I
Jauge de temp d’eau GE No. 658 Q@
Manométre d’huile GE No. 658 Ampoule

Frangais

2de5



1S0334

Installation Gauge Hole Dia.
1. Déconnectez la batterie négative terminale. Speedometer 85 mm
2. Si vous ne remplacez pas une jauge existant dans le tableau de bord, de Tachymeétre 85 mm
localiser un emplacement de montage de la jauge (s) qui fournissent une Jauge de carburant 53 mm
meilleure lisibilité de la position de 'opérateur. Vérifiez qu'il n'y a assez Voltmet 53
d'espace utilisable derriére I'emplacement de montage pour installer votre oltmetre mm
jauge et faire les connexions si nécessaire. Temp de l'eau 53 mm
3. Découper un trou dans le tableau de bord pour chaque jauge. Utiliser le Presse de huile 53 mm

tableau pour déterminer la taille du trou correct.

4. Installer la jauge dans le trou de montage et de vérifier I'ajustement.

5. Montez la jauge (s) avec les supports de montage en utilisant les rondelles
fendues et écrous en laiton comme indiqué sur la page suivante. Serrer a
la main les écrous serrés en utilisant seulement 0.07 Kilogram-Meter de

couple.

Mise en garde:

Pas de serrer les écrous de montage. Au resserrement noix peuvent casser
la jauge du logement, support de montage ou montage panneau

6. Il est recommandé que les bornes de fils isolés, de préférence de type
anneau étre utilisé sur toutes les connexions. Connexions d'assemblage

Iégers besoin de 6 mm terminal de branche femelle.

Compteur de vitesse/Pitot connexions

Assemblée lumiere

Lame Terminial (-)
(Ground)

(a partir de circuits
d’éclairage)

85 mm dia.

Détail A Entaille 277
(si nécessaire) Tubes

Chapeau

1. Localiser et installer I'ensemble du tube de Pitot sur
le tableau arriére en position verticale, au moins 153
mm (6 in) a I'écart des extrémités de pale. Le trou
d'aspiration doit également étre de 38 mm ou plus bas
que le fond de la coque. Ne placez pas derriere
n'importe quel coureur ou quille, car cela affecterait
I'exactitude.

2.Trouvez un endroit convenable au-dessus de la ligne
d'eau pour amener le tube a travers. Percez un trou de
6 mm a cet endroit et tirez sur le tuyau a travers.
Utiliser un scellant marin sur la plaque de plafond et
d'en tirer la plaque serré contre le tableau a I'aide des
vis fournies. Appuyez sur le tube au fond sur le raccord
male sur I'assemblage du tube de Pitot. Joint de
ciment ou autre adhésif n'est pas tenu de fixer la
tuyauterie aux raccords.

3. Faites passer les tuyaux le long du plat-bord a
lintérieur du bateau. Eviter les spires tranchants,
sertissage, le vrillage ou d'autres forces qui peuvent
réduire le diametre intérieur du tube. Fixez le tuyau a
intervalles réguliers avec de petits clips en plastique
fourni (encore une fois attention a ne pas pincer le
tube). Une légere pente descendante de la proue a la
poupe permet d'éviter I'eau de piégeage. Ne pas
embobiner tout excés de tube, comme il doit étre
coupé a la longueur désirée.

4. Aprés l'installation du compteur de vitesse dans le
tableau de bord, couper le tube (laisser une petite
quantité de mou) et appuyez sur raccord male entiere-
ment sur le dos de l'indicateur de vitesse.

Francais

3de5




1S0334

Connexions de tachymétre

Lame Terminal(+) Assemblée lumiére
(a partir de circuits

d’éclairage)

Adjustement Pot

Allumage Terminal (+) (BAT)

(sur linterrupteur d'allumage)

96.\, Signal (SIG)

Connexions de jauge niveau carburant

Avec un petit tournevis, appuyer et tourner
LEGEREMENT le sélecteur a 'arriére du tachymetre
sur la position correcte de faire correspondre le nombre
de cylindres (voir I'étiquette sur le coté du tachymetre).
Appuyer sur l'interrupteur trop dur peut causer des
dommages au tachymetre! Assurez-vous du sélecteur a
enfermés dans la détente a la position correcte en
tournant Iégérement le commutateur d'avant en arriére
avec le tournevis.

Voltmeétre connexions

Lame Terminal(+)
(a partir de circuits
d’éclairage)

Assemblée lumiére

53 mm dia.
Allumage Terminal (1)

o7 /,%
e a <

¢/,
Signal Terminal (S) .

(

Ground (GND)

Lame Terminal(+)
(a partir de circuits

 part Assemblée lumiére
d’éclairage)

53 mm dia.

Allumage Terminal (+)
(sur l'interrupteur d'allumage)

Ground (GND)

Mise en garde particuliere doit étre prise lorsque vous travaillez sur ou autour de chars qui ont ou ont eu des

combustibles dans les.

Connexions de jauge de température eau

Connexions de jauge de pression huile

Lame Terminal(+)
(a partir de circuits
d’éclairage)

Assemblée lumiére

.;;y', 7 \ Allumage Terminal (1)
/} I (sur le contacteur d'allumage)

' /»’%\%

7 ag /

Transmetteur

de Température
1 (Non inclus)

Signal Terminal (S) Ground (GND)

Lame Terminal(+)
(a partir de circuits
d’éclairage)

Assemblée lumiére

53 mm dia.
Allumage Terminal (1)

] ur le contacteur d'allumage)
;
e % &
) 8
", @

2

Transmetteur
de Pression
(Non inclus)

Signal Terminal (S) Ground (GND)

Francgais

4deb




1S0334

Choisir le bon expéditeur
Les expéditeurs sont désignés par les descriptions suivantes et doivent étre choisis dans les combinaisons de I'un de A,
B, C. (Par exemple: unique station, la résistance américaine, motif Norme)

. a Unique
A Station Double
B Résistanceb Amer!caln
Européenne
,C Norme
C De-chaussée Flottant

Notes:
a. Station: Il est I'expéditeur qui est unique dans une application double station. La jauge est le méme dans des
applications simples ou doubles.

b. Résistance: Choisissez votre expéditeur de I'électricité correspondent a votre jauge pas seulement le fabricant.
Certains fabricants expéditeur faire deux types de résistance, et, quelques fabricants d'instruments peut utiliser n'importe
quel type de résistance en fonction de la jauge. Il n'ya généralement pas de fagon visuelle seule de déterminer le type de
résistance.

c. De-chaussée: sol standard est la plus commune ayant négative de la batterie (-) relié directement au bloc moteur.
Unités d'envoi peut avoir une (1) borne (signal). Dans un systéme de masse flottante, le négatif de la batterie n'est pas
connecté au bloc moteur de fagon simple enfilage dans I'expéditeur ne fournit pas au sol. Expéditeurs masse flottante
aura deux (2) bornes (signal et au sol). Les deux terminaux expéditeur peut étre connecté a une borne de calibre
approprié ou au sol de I'expéditeur peut étre branché directement a la batterie négative. Un expéditeur masse flottante
peut étre utilisé dans un systéme au sol standard, mais pas vice-versa.

Expéditeurs de pression d'huile

Moteurs ou des transmissions équipées d'un interrupteur basse pression d'huile qui actionne un voyant d'avertissement
approprié besoin d'un "T" de raccord de tuyau pour accueillir capteur de pression a la fois et de la lumiére
d'avertissement. La plupart des unités de pression d'huile ont 1/8 " NPT filetage et sont généralement montés dans le bloc
moteur. Si le bloc ou carter de transmission a une taille plus grande pipe, une douille appropriée peut étre utilisé sans
affecter la précision de détection de pression.

Température expéditeurs

Sondes de température sont disponibles a partir de Faria ® instruments de marine de 1/8 po tailles de filetage NPT. Si
votre veste de |'eau, carter d'huile ou de la transmission du logement exige un diamétre de fil plus grand que 1/8 " NPT,
une douille sera nécessaire. "T" raccords ne devrait pas étre utilisés car ils peuvent affecter la précision de I'expéditeur en
réduisant le signal de température.

Francais 5de5




1S0334

W@) Faria Calibre 6 Box Set ESthOl
(Spanish)

Numero de pieza

PRECAUCION: Desconectar la bateria durante la instalacion. Apretar las tuercas

de la pinza de nuevo solo un poco mas de lo que puede apretar con los dedos.
Seis pulgadas-libras de torque son suficientes. Si se aprieta demasiado puede KT9797 KTFO0O1
provocar dafios al instrumento y puede invalidar la garantia. Cemento junta u otro KT9798 KTF003
adhesivo no es necesaria para asegurar la tuberia a los accesorios. KT9799
Utilice alambre trenzado, recubierto, no mas ligero que el de 18 AWG aprobado
para uso marino.
Esté seguro de no aislamiento de los cables esta en peligro de fusion del motor o el
escape de calor o interferir con partes mecanicas en movimiento.
LISTA DE PIEZAS
Velocimetro
CANT Descripcion
1 |Velocimetro - Mecanica 1 ©
1 |Soporte de montaje 2
Kit de hardware o
2 |#8 Tuerca de laton 3
2 |#8 Arandela plana laton 4 0 0©
2 |#8 Arandela de Split 5
Tacémetro
CANT Descripcion
WAV
1 [Tacdmetro 1 ©
g
1 |Soporte de montaje 2 A /A
Kit de hardware o
7 |#10 Tuerca de laton 3
4 [#10 Arandela plana latén 4 o @@@@
4 |[#10 Arandela de Split 5
Indicador de nivel de combustible
CANT Descripcion R
1 [Indicador de nivel de combustible 1 ©
1 |Soporte de montaje 2
Kit de hardware (1)
6 |[#10 Tuerca de laton 3
3 [#10 Arandela plana laton 4 o @@@
3 |#10 Arandela de Split 5
Voltimetro
CANT Descripcion
1 |Voltimetro 1 ©
1 |Soporte de montaje 2
Kit de hardware (1)
4 |#10 Tuerca de latén 3
2 |#10 Arandela plana laton 4 ICIE)]
2 |#10 Arandela de Split 5

Espafiol 1de5



1S0334

Indicador de temperatura del agua

CANT Descripcion
1 |Indicador de temperatura del agua | 1 ©
1 |Soporte de montaje 2
Kit de hardware (4]
6 |#10 Tuerca de laton 3
3 |#10 Arandela plana laton 4 5] @@@
3 [#10 Arandela de Split 5
Medidor de presion de aceite
CANT Descripcion
1 [Medidor de presion de aceite 1 ©
1 |Soporte de montaje 2
Kit de hardware (4]
6 [#10 Tuerca de laton 3
3 |#10 Arandela plana laton 4 o @@@
3 |#10 Arandela de Split 5
Kit de Pitot
CANT Descripcion
1 |Pitot 1 © © ( © ggg
1 |20’ Tubo de Pitot 2 \é
1 |Abrazadera de tubo de Pitot 3 = >
5 |Clips de tubo 4 ° z:;‘; ;:; 0 77
3 |Tornillos autorroscantes #8 5 (= (=
2 |Los tornillos de acero inoxidable #6| 6
Remplacement de I'ampoule Acambioa do lus
Velocimetro GE No. 194
Tacometro GE No. 194
Aforador de combustible GE No. 658
Voltimetro GE No. 658 Enenie dela iz
Indicador de temp del agua | GE No. 658 %@
Medidor de presion de aceite| GE No. 658 Bombilla

Espanol

2de5



1S0334

Instalacion
1. Desconecte la bateria negativa terminal

2. Si usted no va a sustituir un medidor existente en el tablero, busque un
lugar para montar el mandémetro (s) que proporcionan una lectura facil de
la posicién del operador. Verifique que haya suficiente espacio viable
detras de la ubicacion de montaje para instalar su medidor y realizar las

conexiones si es necesario.

3. Corte un agujero en el tablero para cada indicador. Use la tabla para

determinar el tamafio correcto del agujero.

Indicador Taladro
Velocimetro 85 mm
Tacémetro 85 mm
Aforador de combustible 53 mm
Voltimetro 53 mm

Temp de agua 53 mm
Prensa de aceite 53 mm

4. Instalar el manémetro en el orificio de montaje y la comprobacién del

ajuste.

5. Montar el mandémetro (s) con los soportes de montaje con las arandelas
abiertas y las tuercas de latén, como se muestra en la siguiente pagina.
Apriete a mano las tuercas con soélo 6 libras por pulgada de torque.

Advertencia:

del panel.

No apriete demasiado las tuercas de montaje. Si se aprieta demasiado las
tuercas se puede romper la caja del medidor, soporte de montaje o montaje

6. Se recomienda que los terminales aislados de alambre, preferentemente
de tipo anillo ser utilizado en todas las conexiones. Conexiones de luz de

montaje requiere de 6 mm terminales de hoja femenino.

Conexiones del velocimetro/Pitot

Hoja Asamblea de luz
Terminal (+) . ] )
(del circuito de ("Skii)de terminal (-)
iluminacion)

85 mm dia.

Detalle A Muesca
(si es necesario)

Tuberia

Tapa
Y
Tuberia 1&‘&
Pitot R\

12

N

Hl X
7777/ L

1.Localizar e instalar el conjunto del tubo de Pitot en el
travesafio en una posicion vertical, por lo menos 153
mm de distancia de las puntas de la hélice de la hoja.
El orificio de entrada también debe ser 38 mm o mas
por debajo de la parte inferior del casco. No coloque
detras de cualquier corredor o de la quilla, ya que esto

2.

afectara su exactitud.

Busque un lugar comodo por encima de la linea de
agua para llevar la tuberia a través. Haga un agujero
de 6 mm en este lugar y tire de la tuberia a través de.
Use un sellador marino en la placa de la tapa y sacar
la placa firmemente contra el fijo con los tornillos
suministrados. Presione el tubo completamente en el
conector macho en el montaje del tubo de Pitot.
Cemento junta u otro adhesivo no es necesaria para

asegurar la tuberia a los accesorios.

. Ejecutar el tubo a lo largo del interior de la borda del
barco. Evite vueltas cerradas, prensar, dobleces o de
otras fuerzas que pueden reducir el diametro interior
del tubo. Fije el tubo a intervalos regulares con
pequenfios clips de plastico suministrado (de nuevo
tener cuidado de no pillar las tuberias). Una ligera
inclinacion hacia abajo de proa a popa le ayudara a
evitar que el agua de captura. No enrolle cualquier
exceso de tubo, como debe ser cortada a la longitud

deseada.

. Después de instalar el velocimetro en el tablero, cortar
los tubos (dejar una pequena cantidad de holgura) y
pulse accesorio masculino completo en la parte

posterior del velocimetro.

Espariol

3de5



1S0334

Conexiones de tacometro

Asamblea de luz

Hoja
Terminal (+)
(del circuito de
iluminacion)

Ajuste
Terminal de

encendido (+) (BAT) MeeX Sefal (SIG)
(el interruptor de encendido) Suelo (GN D)

Conexiones del medidor de nivel de combustible

Con un destornillador pequefio, escasamente apoyar y
girar el selector en la parte posterior del tacoémetro en la
posicion correcta para que coincida con el niUmero de
cilindros (consulte la etiqueta en el lado del tacémetro).
Al presionar el interruptor demasiado duro puede
causar danos en el tacometro! Asegurese de que el
selector se ha encerrado en el retén en la posicion
correcta en poco girar el interruptor de ida y vuelta con
el destornillador.

Conexiones del voltimetro

Hoja Asamblea de luz
Terminal (+)
(del circuito de

iluminacion)

53 mm dia.

Terminal de
encendido (1)
(el interruptor de encendido)

// ’. @\ -
- 88 o
o
Terminal de sefal (S) ~
Suelo (GND)

Hoja
Terminal (+) Asamblea de luz
(del circuito de
iluminacién)

53 mm dia.

Terminal de
encendido (+)
(el interruptor de
encendido)

Suelo (GND)

Debe tenerse especial cuidado cuando trabaje en o alrededor de tanques que tienen o han tenido combustible en ellos.

Conexiones de medidor de temperatura de agua

Conexiones del medidor de presion de aceite

Hoja Asamblea de luz
Terminal (+)
(del circuito de .
iluminacion) 53 mm dia.
\]' Terminal de
encendido (1)
} (el interruptor de encendido)
g \‘ a ’/”%\%
eg ~ £
i A @\
N

Temperatura

La transmision .
de configurar Terminal de  “syelo (GND)

(No incluido) sefial (S)

Hoja
Terminal (+)
(del circuito de

iluminacion)

Asamblea de luz

53 mm dia.

Terminal de

encendido (1)
(el interruptor de
encendido)

La presion
del remitente
(No incluido)

Terminalde  gyelo (GND)
sefial (S)

Esparol

4deb



1S0334

Seleccionar el remitente adecuado

Remitentes son designadas por las siguientes descripciones y debe ser seleccionado en las combinaciones de un cada
uno de A, By C. (Por ejemplo: una estacién unica, la resistencia de América, la tierra de las Américas)

A Estaciéna Solo
Dual
b -
B Resistencia Estadounidense
Europea
c Estandar
C Suelo Flotante

Notas:

a. Estacion: Es el remitente que es Unico en una aplicacion de estacion dual. El calibre es el mismo tanto en
aplicaciones simples o dobles.

b. Resistencia: Elija su remitente para que coincida con el medidor de electricidad no solo el fabricante. Algunos
fabricantes de emisores que ambos tipos de resistencia, y, algunos fabricantes de instrumentos puede utilizar
cualquier tipo de resistencia en funcién de la galga. Generalmente, no hay manera visual por si solo determinar el tipo
de resistencia.

c. Baja: suelo estandar es la mas comun que tiene negativo de la bateria (-) conectado directamente al bloque del
motor. El envio de las unidades pueden tener un (1) terminal (la sefial). En un sistema de masa flotante y el negativo
de la bateria no esta conectado al bloque del motor tan sélo con hilo en el remitente no suministra suelo. Remitentes
flotantes de tierra tendra dos (2) terminales (sefial y tierra). Ambos terminales del remitente puede ser conectado a la
terminal de calibre apropiado o la tierra del remitente se puede conectar directamente a la negativa de la bateria. Un
emisor de masa flotante puede ser utilizado en un sistema de tierra estandar, pero no viceversa.

Remitentes de presion de aceite

Motores o transmisiones equipadas con un interruptor de baja presion de aceite que se activa una luz de advertencia
requieren un adecuado "T", instalaciéon de tuberias para acomodar tanto el emisor como la presion y la luz de
advertencia. La mayoria de las unidades de presién de aceite de origen tiene 1/8" NPT roscas de los tubos y se montan
generalmente en el bloque del motor. Si el bloque o caja de transmision tiene un tamafio de tubo mas grande, un
casquillo apropiado puede ser utilizado sin afectar la presion de deteccién de precision.

Temperatura remitentes

Remitentes de temperatura estan disponibles a partir Faria ® Marine Instruments en 1/8 "tamafios de rosca NPT. Si su
camisa de agua, el aceite de la vivienda sartén o la transmisién requiere un mayor diametro de la rosca de 1/8 "NPT, un
casquillo sera necesario. "T" accesorios NO deben utilizarse ya que pueden afectar la precision del emisor mediante la
reduccion de la sefial de temperatura.

Espafiol 5de5




1S0334

W@) Faria 6 Scartamento Cofanetto Italiano

(Italian)

Per i motori di Inboards

Numero parte

CAUTELA: Scollegare la batteria durante l'installazione. Serrare i dadi del
morsetto indietro solo un po 'pit di quanto si possa stringere con le dita. Sei

pollici-libbre di coppia sono sufficienti. Un serraggio eccessivo pud provocare danni KT9797 KTFOO01
allo strumento e pud invalidare la garanzia. Guarnizione di cemento o altro adesivo KT9798 KTF003
non € necessario per assicurare le tubazioni ai raccordi. KT9799

Usa, filo isolato che non sia inferiore 18 AWG approvato per uso marino.

Be certo isolamento del filo non € in pericolo di fusione o di scarico dal motore
termico o interferire con organi meccanici in movimento.

ELENCO PARTI

Tachimetro
QTY Descrizione
1 |Tachimetro - meccanica 1 ©
1 |Staffa di montaggio 2
Kit di hardware (4]
2 |#8 Ghiera in ottone 3
2 |#8 Rondella piana in ottone 4 5] @@
2 |#8 Rondella di Split 5
Contagiri
QTY Descrizione
1 |Contagiri 1 ©
1 |Staffa di montaggio 2
Kit di hardware o
7 [#10 Ghiera in ottone 3
4 [#10 Rondella piana in ottone 4 o @@@@
4 [#10 Rondella di Split 5
Indicatore di livello carburante
QTY Descrizione
1 |Indicatore di livello carburante 1 ©
1 |Staffa di montaggio 2
Kit di hardware (4]
6 |#10 Ghiera in ottone 3
3 |#10 Rondella piana in ottone 4 o @@@
3 |#10 Rondella di Split 5
Voltmetro
QTY Descrizione
1 |Voltmetro 1 o
1 |Staffa di montaggio 2
Kit di hardware ()
4 |#10 Ghiera in ottone 3 °
2 |#10 Rondella piana in ottone 4 (5] @@
2 |#10 Rondella di Split 5

Italiano 1di5



1S0334

Indicatore di temperatura dell'acqua

QTY Descrizione
1 |Indicatore di temperatura dell'acqua | 1 ©
1 |Staffa di montaggio 2
Kit di hardware (4]
6 |#10 Ghiera in ottone 3
3 |#10 Rondella piana in ottone 4 9@@@
3 |#10 Rondella di Split 5
Misuratore di pressione olio
QTY Descrizione
1 |Misuratore di pressione olio 1 ©
1 |Staffa di montaggio 2
Kit di hardware (4]
6 |#10 Ghiera in ottone 3
3 [#10 Rondella piana in ottone 4 9@@@
3 |#10 Rondella di Split 5
Kit di Pitot
QTY Descrizione
1 |Pitot 1 © T ©
1|20’ Tubo di Pitot 2 v ggg
1 Morsejtto di ’[l.,lbO di Pitot 3 o (ﬂ{a (,@ o I7
5 [Tubazione clip 4 (= =
3 |Auto-Tapping viti #8 5 (ﬁg
2 |Viteria in acciaio inox #6 6
Lampadina sostituzioni Assemblea Luce
Tachimetro GE No. 194
Contagiri GE No. 194
Livello carburante GE No. 658
Voltmetro GE No. 658 [Focket Luce
Acqua Temp GE No. 658 @
Pressione dell’olio GE No. 658 Lampadina

Italiano

2di5




1S0334

Installazione
1. Scollegare il polo negativo della batteria.

2. Se non si sta sostituendo un indicatore integrato nel cruscotto, gia
esistente, individuare un percorso di montaggio per il calibro (s), che
consente una facile lettura dalla posizione dell'operatore. Verificare che
non vi & abbastanza spazio praticabile dietro la posizione di installazione
per installare il manometro ed effettuare i collegamenti, se necessario.

3. Praticare un foro nel cruscotto per ogni calibro. Usare la tabella per

determinare la dimensione corretta del foro.

Scartamento Foro
Tachimetro 85 mm
Contagiri 85 mm
Livello carburante 53 mm
Voltmetro 53 mm
Acqua Temp 53 mm
Pressione dell'olio 53 mm

4. Installare lo strumento nel foro di montaggio e controllare in forma.

5. Montare il manometro (s) con i montaggios Di Staffa con il Rondella di
Split e Ghiera in ottones, come illustrato nella pagina successiva. Serrare a

mano i dadi utilizzando solo 6 pollici libbre di coppia.

Attenzione:

Non stringere eccessivamente i dadi di fissaggio. Nel corso serrando i dadi
pud rompere l'involucro calibro, Staffa di Montaggio o pannello.

6. Si consiglia di capicorda isolati, preferibilmente tipo di suoneria essere
utilizzato su tutte le connessioni. Collegamenti leggere di assemblaggio

richiedera sei terminal lama mm femminile.

Tachimetro/Pitot connessioni

Lama

Terminale (+)
(dall'illuminazione
circuito)

Assemblea Luce

LamaTerminale (-)
(Massa)

85 mm giorni.

<

Dettaglio A Tacca .
(se necessario)

Cappuccio

1. Individuare e installare il gruppo del tubo di Pitot sulla

traversa in posizione verticale, almeno 153 mm dalla
estremita delle pale dell'elica. Il foro di aspirazione
deve essere di 38 mm o piu sotto il fondo dello scafo.
Non posizionare dietro ogni corridore o chiglia, in
modo da incidere sulla sua precisione.

. Individuare un posto conveniente al di sopra della

linea di galleggiamento per portare il tubo attraverso.
Praticare un foro 6 mm in questa posizione e tirare il
tubo attraverso. Usare un sigillante marino sulla placca
del coperchio e disegnare la piastra stretta sullo
specchio di poppa con le viti in dotazione. Premere |l
tubo pieno sul raccordo maschio al montaggio di Pitot.
Guarnizione di cemento o altro adesivo non &
necessario per assicurare le tubazioni ai raccordi.

. Esegui il tubo lungo la parte interna della falchetta

della barca. Evitare di tornanti, piegamenti,
attorcigliamenti o altre forze che possono ridurre il
diametro interno del tubo. Fissare il tubo a intervalli
regolari con piccole clip in plastica in dotazione
(ancora una volta attenzione a non schiacciare il tubo).
Una leggera pendenza verso il basso da prua a poppa
aiutera evitare che l'acqua trapping. Non avvolgere
parte eccedente del tubo, come dovrebbe essere
tagliato alla lunghezza desiderata.

4. Dopo aver installato il tachimetro nel cruscotto, tagliare

tubi (lasciare una piccola quantita di gioco) e premere
completamente raccordo maschio sulla parte
posteriore del tachimetro.

Italiano

3di5




1S0334

Contagiri connessioni

Assemblea Luce

Lama

Terminale (+)
(dall'illuminazione
circuito)

85 mm giorni.

Regolazione

Ignition Terminale (+) (BAT)
(su interruttore di accensione)

Connessioni di indicatore di livello carburante

Con un piccolo cacciavite, LEGGERMENTE premere e
ruotare il selettore sul retro del contagiri nella posizione
corretta in base al numero di cilindri (vedere l'etichetta
sul lato del contagiri). Premendo l'interruttore troppo
rigido pud causare danni al tachimetro! Assicurarsi che
il selettore ha bloccato in arresto nella posizione
corretta ruotando leggermente l'interruttore avanti e
indietro con il cacciavite.

Voltmetro connessioni

Lama Assemblea Luce

Terminale (+)
(dall'illuminazione
circuito)

53 mm giorni.

Ignition Terminale (l)
(su interruttore di
accensione)

" & ,/’%
e g <

= h
Segnale Terminal%% ~

Massa (GND)

Lama

Terminale (+)
(dall'illuminazione
circuito)

Assemblea Luce

Ignition Terminale (1)
(su interruttore di
accensione)

Massa (GND)

Particolare attenzione dovrebbe essere presa quando si lavora su o intorno ai carri armati che hanno o hanno avuto |l

carburante in loro.

Acqua temperatura Gauge connessioni

Connessioni manometro olio

lama

Terminale (+)
(dall'illuminazione
circuito)

Assemblea Luce

53 mm giorni.

Ignition Terminale (l)
(su interruttore di
accensione)

5
Temperatura
Trasmissione

Impostato
(Non incluso)

Segnale Terminale (S)  Massa (GND)

lama

Terminale (+)
(dall'illuminazione
circuito)

Assemblea Luce

53 mm giorni.

Ignition Terminale(l)
(su interruttore di
accensione)

Pressione

Trasmettitore
(Non incluso)

Segnale Terminale (S)  Massa (GND)

Italiano

4di5




1S0334

Selezionando il mittente corretto

Mittenti sono indicate con le seguenti descrizioni e devono essere selezionati in combinazioni di uno ciascuno di A, B e C.
(Ad esempio: Stazione Singola, Resistenza Americana, Massa Standard)

a :
A Stazione S'nQO_lO
Doppio
b -
B Resistenza Americana
Europea
C Massa" Standard _
Galleggianti

Note:

a. Stazione: E 'il mittente che & unico in un'applicazione doppia stazione. Il calibro & la stessa in applicazioni sia
singolo o doppio.

b. Resistenza: Scegli il tuo mittente in modo che corrisponda elettricamente tuo strumento non solo il produttore.
Alcuni produttori mittente fare entrambi i tipi di resistenza, e, alcuni produttori di strumenti pud utilizzare entrambi i tipi
di resistenza a seconda del calibro. Di solito non c'é€ modo visivo solo per determinare il tipo di resistenza.

c. Massa: terreno standard € la piu comune avente batteria negativo (-) collegato direttamente al blocco motore. L'invio
di unita puo avere un (1) terminale (segnale). In un sistema massa flottante, il negativo della batteria non & collegato al
blocco motore in modo semplice filettatura nel mittente non fornisce terreno. Mittenti massa flottante avra due (2)
Terminali (segnale e massa). Entrambi i terminali mittente puo essere collegato al terminale di sezione adeguata o
terreno del mittente pud essere collegato direttamente al negativo della batteria. Un mittente massa flottante pud
essere utilizzato in un sistema di terra standard, ma non viceversa.

Mittenti di pressione olio

Engines or transmissions equipped with a low oil pressure switch that activates a warning light require an appropriate
“T” pipe fitting to accommodate both pressure sender and warning light. Most oil pressure sending units have 1/8"NPT
pipe threads and are usually mounted in the engine’s block. If the block or transmission case has a larger pipe size, an
appropriate bushing may be used without affecting pressure- sensing accuracy.

Mittenti di temperatura

Mittenti di temperatura sono disponibili da Faria Instruments Marine in 1/8 "dimensioni della filettatura NPT. Se la
vostra camicia d'acqua, olio del rivestimento pan o la trasmissione richiede un diametro del filetto superiore a 1/8
"NPT, una bussola sara richiesto. "T" raccordi non deve essere usato come questi possono influire sulla precisione del
mittente, riducendo il segnale di temperatura.

Italiano 5di5




1S0334

.o ® e Svenskt
W Faria 6 Mata linramade Grupp (Swedish)

Artikelnummer

FORSIKTIGHET: Koppla bort batteriet under installationen. Dra 4t muttrarna pa
baksidan klamman endast nagot mer an du kan dra at med fingrarna. Sex

inch-pounds vridmoment ar tillrackliga. Under atstramning kan resultera i skador pa KT9797 KTFOO01
instrumentet och kan upphava garantin. Packning cement eller annat bindemedel KT9798 KTF003
kravs inte fast slangen med beslag. KT9799

Anvand strandat, isolerad kabel inte lattare an 18 AWG godkanda fér marint bruk.

Vara saker kabelisolering inte riskerar att smalta fran motorn eller avgas varme eller
stora rorliga mekaniska delar.

DELAR LISTA
Hastighetsmatare
QTY Beskrivning
N7\
1 |Hastighetsmatare - mekanisk 1 ©
1 |Fastvinkel 2
Maskinvara kit (4]
2 |#8 Massing Mutter 3
2 [#8 Massing Platt Bricka 4 0 G©
2 |#8 Bricka delasr 5
Varvréaknare
QTY Beskrivning
- o © )
1 |Varvraknare 1
1 |Fastvinkel 2 TN
Maskinvara kit ﬁ o
7 |#10 Massing Mutter 3 x100
4 |#10 Massing Platt Bricka | 4 0 OGO
4 |#10 Bricka delas 5
Brénsle niva manometer
QTY Beskrivning
1 |Bransle nivd manometer 1 ©
)@
1 |Fastvinkel 2 A\
Maskinvara kit (4]
6 |#10 Massing Mutter 3
3 [#10 Massing Platt Bricka | 4 ICICE]
3 |#10 Bricka delas 5
Multimeter
QTY Beskrivning
1 |Multimeter 1 ©
L
astvinkel 2
Maskinvara kit (4]
4 |#10 Massing Mutter 3
2 |[#10 Massing Platt Bricka | 4 0O
2 |[#10 Bricka delas 5

Svenskt 1av5



1S0334

Temperatur pa vattenmétaren

QTY Beskrivning N
1 |Temperatur pa vattenmataren 1 ©
1 [Fastvinkel 2
Maskinvara kit (4]
6 |#10 Massing Mutter 3
3 |#10 Massing Platt Bricka | 4 - ICICIC;
3 |#10 Bricka delas 5
Olja manometer
QTY Beskrivning
1 |Olja manometer 1 ©
1 |Fastvinkel 2
Maskinvara kit Yo\ 106
6 |#10 Massing Mutter 3 0
3 |[#10 Massing Platt Bricka | 4 - ICICIE]
3 |#10 Bricka delas 5
Pitot Kit
QTY Beskrivning
1_|Pitot 1 © © G ©
1 |20' Pitot slangen 2 \é ggg
1 |Pitot slangfen klamma 3 § o (‘{i (,@ 0 17
5 |Slangen klipp 4 f@ (‘9
3 |Sjalvgangande skruvar #8 5 (ﬁg
2 |Rostfria skruvar #6 6

Latt Montering

Byte glédlampa

Hastighetsmatare GE No. 194
Varvraknare GE No. 194
Bransleniva GE No. 658
Multimeter GE No. 658
Vatten Temp GE No. 658
Oljetryck GE No. 658

Ljus Uttag

Glodlampa

Svenskt

2av5




1S0334

Installation
1. Koppla bort den negativa batteripolen.

2. Om du inte byter ut en befintlig matare i instrumentpanelen, hitta en
monteringsplats for mataren (s) som ger lattlast fran forarplatsen.
Kontrollera det finns tillrackligt med fungerande utrymme bakom
monteringsplatsen att installera matare och knyta kontakter om det

behovs.

3. Skar ett hal i instrumentbradan for varje matare. Anvand diagrammet for

att bestdmma ratt halstorlek.

4. Installera mataren i fasthalen och kontrollera passform.

Mata Haldiameter
Hastighetsmatare 85 mm
Varvraknare 85 mm
Bransleniva 53 mm
Multimeter 53 mm
Vatten Temp 53 mm
Oljetryck 53 mm

5. Montera mataren (s) med Fastvinkels med hjalp av delade brickor och
Massing Notter som visas pa nasta sida. Dra at muttrarna for hand med

endast 6 tum pounds av vridmoment.

Varning:

Fastvinkel eller montering panel.

Dra inte at muttrarna. Under dra at muttrarna kan spricka mataren huset,

6. Det rekommenderas att elektrisk trad terminaler, helst ringtyp anvandas pa
alla anslutningar. Latt montering anslutningar kraver 6 mm flatstiftshylsor

terminal.

Hastighetsmiéitare/Pitot anslutningar

Bladgt Latt Montering
Terminal (+) - Bladet Terminal (-)

Detalj A !
(vid behov)

1. Lokalisera och installera anordningen pitotréret pa

akterspegeln i en vertikal position, minst 153 mm bort
fran propellern bladspetsarna. Intaget halet maste
ocksa vara 38 mm eller mer under botten av skrovet.
Placera inte bakom nagon l6pare eller kol, eftersom
detta kommer att inverka pa dess noggrannhet.

. Hitta en l1amplig plats ovanfor vattenlinjen for att fa

slangen igenom. Borra ett 6 mm hal pa denna plats
och dra slangen igenom. Anvand en marin sealer pa
locket plattan och dra plattan tatt mot akterspegeln
med de medféljande skruvarna. Tryck slangen helt pa
den manliga montering pa Pitot montering. Packning
cement eller annat bindemedel kravs inte fast slangen
med beslag.

. Kér slangen langs insidan av batens reling. Undvik

skarpa svangar, krympning, skarpa bojar, eller andra
krafter som kan minska innerdiameter slangen. Fast
slangen med jamna mellanrum med sma plast clips
medfdljer (dterigen vara noga med att inte kldamma
slangen). En liten nedatgaende lutning fran for till akter
kommer att undvika fangst vatten. Inte spole eventuellt
Overskott slang, som det ska kapas till 6nskad langd.

. Nar du har installerat hastighetsmataren i

instrumentpanelen, skar slang (Iamna en liten mangd
slack) och tryck pa fullt hankopplingen pa baksidan av
hastighetsmataren.

Svenskt

3avh




1S0334

Varvrédknare anslutningar

Anvand en liten skruvmejsel, Latt tryck och vrid

Bladet Latt Monterin s o . N S ey ya ..

Terminal (+) 9 valjaren pa baksidan av varvraknaren till ratt lage for

(frén belysningskrets) 85 mm dag. att matcha antalet cylindrar (se etiketten pa sidan av
varvraknaren). Trycka omkopplaren for hart kan skada

varvraknaren! Var noga med valjaren har last in i
sparren pa ratt position genom nagot att vrida vaxla

Justering
fram och tillbaka med skruvmejseln.

Téndning Terminal (+) (BAT) <5 k Sialera (siG)
(pa tandningslaset) 28 aND)
Jord (!

Brénsle niva sparvidd anslutningar Multimeter anslutningar

_?_Iadgt ) Latt Montering Bladet
ermina i 4 i
(fran belysningskrets) 53 d L%LT;EzLiggs)krets) 'ﬁ Latt Montenng
mm dag. * A
Sy, 53 mm dag.

Tandning Terminal (1)
(pa tandningslaset)

] t %

7 e J

e e -
,/,

Signalavslutninge%\ ~

Sarskild forsiktighet bor vidtas nar du arbetar pa eller runt tankar som har eller har haft bransle i dem.

Tandning Terminal (1)
pa téandningslaset)

Jord (GND) Jord (GND)

Vatten temperatur métare anslutningar Olja manometer anslutningar

Bladet L&tt Montering Bladet Létt Montering
Terminal (+) Terminal (+)
(fran belysningskrets)

53 mm dag.
Téndning

Terminal (1)
(pa tandningslaset)

53 mm dag.

(fran belysningskrets)

Tandning Terminal (1)
(pa tandningslaset)

Trycktransmitter
(Medféljer ej)

Temperatur

Sandaren
(Medfoljer ej)

Signalavslutningen (S) Jord (GND)

Signalavslutningen (S) Jord (GND)

Svenskt 4avh



1S0334

Att vélja rétt avsédndare

Avsandare betecknas med foljande Beskrivnings och maste valjas i kombination av en fran vardera A,
B, & C. (Till exempel: Enskild Station, American Motstand, Standarden Jord)

. a Enda
A Station Dubbla
b :
B Motstand Amenkgnsk
Europeiska
c Standarden
C Jord Flytande

Anmarkningar:

a. Station: Det &r avsandaren som ar unik i en dubbel station ansékan. Mataren & densamma i antingen enkla eller
dubbla tillampningar.

b. Motstand: Valj avsandare till elektriskt matchar din matare inte bara tillverkaren. Vissa avsandare tillverkare gor
bade motstand typerna, och kan vissa instrumenttillverkare anvanda antingen motstand typ beroende pa mataren. Det
finns oftast inget visuellt satt sjalva att bestdmma motstandet typ.

c. Jord: Standard marken ar den vanligaste att ha batteriets negativa (-) ansluten direkt till motorblocket.
Sandarenheterna kan ha en (1) terminalen (signalen). | ett flytande jord system, batteriet negativt inte ar ansluten till
motorblocket sa enkelt trar i avsandarens inte levererar marken. Flytande jord avsandare kommer att ha tva (2)
terminal (signal och jord). Bade sandare terminaler kan kopplas till amplig tjocklek terminalen eller avsandarens
marken kan kopplas direkt till batteriet negativ. En flytande jord Avsandaren kan anvandas i en vanlig marksystemet
men inte vice versa.

Olje tryck avsandare

Motorer och transmissioner utrustade med ett lagt oljetryck switch som aktiverar en varningslampa kraver en lamplig
"T" rorkoppling for att rymma bade tryck avséndare och varningslampa. De flesta olje tryck sédndarenheterna har 1/8
"NPT gangor och ar oftast monterade i motorns block. Om blocket eller transmissionshéljet har en stérre rordimension
kan en lamplig bussning anvandas utan att paverka tryckavkannande noggrannhet.

Temperatur avsandare

Temperatur avsandare finns tillgangliga fran Faria ® Marine Instrument i 1/8 "NPT ganga storlekar. Om ditt vatten
jacka, oljetrag eller 6verforing hus kraver en trad diameter stérre an 1/8 "NPT, kommer en bussning kravas. "T" beslag
bor INTE anvandas da dessa kan paverka noggrannheten hos avsandaren genom att minska temperaturen signalen.

Svenskt S5av5b




1S0334

W@) Faria 6 Habop kannbpoBOYHbIX

Pycckumn

(Russian)

NMPEOOCTEPEXEHUE: OtkntounTe 6aTtapeto BO BpEMS YCTAHOBKU. 3aTaHUTE
raviku Ha 3agHen 3aXMM NLLb HEMHOTO BOrbLUE, YEM MOXHO 3aTSHYTb NanbLamMMu.
LllecTb AOMMOB KpYTALLEro MOMEHTa AOCTaTOMHO. 3a 3aTArMBaHne MOXeT
NPUBECTU K MOBPEXOEHNIO NprMbopa 1 MOXET NPUBECTU K aHHYNMPOBAHUIO
rapaHTuu. MNMpoknagka LueMeHTa unm gpyroro kresi He Tpedyercs, 4Tobbl
obesonacutb TpybonpoBoa, ANst apMaTypbl.

Vcnonb3oBaHue rmbkoro N3onmpoBaHHOro npoBoda He nerde, 4yem 18 AWG
0p00peHbI Anst UICNOMNb30BaHWsA Ha MOPCKMUX Cydax.

BygbTte yBepeHbl, U30n5aumMs NpoBOAOB HE HAXOAUTCHA B ONACHOCTM MiaBfeHns oT
OBuraterns Unm BbIXSIONHOW Tensa Unmn BMeLlaTenbCcTBa B ABUXKYLLNXCA
MEXaHUYECKNX YacTen.

YACTEW CMUCKA

[ns Bbe3gHoro asuratenen

Homep getanu

KT9797 KTF0O01
KT9798 KTF003
KT9799

Cnudomemp
KOn-BO OnucaHue
WD
1 |CnugomeTp - MexaHndeckme 1 o
1 |MOHTaXHbIV KPOHLUTENH 2
Habop cypHUTYpHI o
2 |#8 laiika natyHb 3
2 |#8 lMNnockne wanbel natyHHble | 4 e@@
2 |#8 Mowika Cnnut 5
Taxomemp
KON-BO| OnucaHue
1 |Taxometp 1 ©
WY
1 |MOHTaXHbIN KPOHLUTENH 2
Habop dypHUTYpBbI (1)
7 |#10 laika natyHb 3
4 |#10Tnockune wanbbl natyHHble | 4 5] @@@@
4 [#10Mownka Cnnut 5
Hamd4duk ypoeHsi monnuea
KON-BO OnucaHue
WY
1 |Qatyuk ypoBHSA TONnmea 1 ©
1 MOHTaXHbIN KpOHLITENH 2
Habop dypHUTYpbI o
6 |#10 lanka naTtyHb 3
3 [#10 Mnockue wainbbl NatyHHbIE| 4 (5] @@@
3 |#10 Mownka Cnnut 5
Bonbmmemp
KONn-BO OnucaHue .
1 |Bonstmetp 1 ©
1 MOHTaXHbIN KpOHLITENH 2
Habop cypHUTYpbI o
4 [#10 lNanka naTyHb 3
2 |#10 Mnockue Wwanbbl natyHHble| 4 (5] @@
2 |#10 Mowika Crnnut 5

Pycckuii

1mn3b



1S0334

Hamyuk memnepamypbi 800b1

Kon-BoO

OnucaHue

1

Hatymk TeMnepaTypbl BOAbI

1 MOHTaXHbIN KPOHLITENH 2
HabGop dypHUTYpbI
6 |#10 lanka natyHb 3

3 |#10 lNnockne wanbbl NaTyHHb

© @ ©)
QO

0000
0 00©

3 |#10 Mowvika Cnnut 5
Hdamyuk daeneHust macna
KON-BO OnucaHue
1 [artynk gaBneHna macna 1 ©
) ©©)
1 |MOHTaXHbIN KDOHLUTENH 2 2
Ha6op dypHUTYpbI (4]
6 |#10 lanka natyHb 3
3 |#10 lNnockue wanbbl naTyHHY 4 9@@@
3 |#10 Movika Cnnut 5
Komnnekm lNMumo
KON-BO| OnucaHue
1 [Muto 1 @ ggg
1 |6 mm Tpy6Gku NMuto 2 \é
1 |3axum Tpy6km MuTo 3 o 0 I7
5 |Tpy6onpoBoga knunbl 4 (= (=
3 |Camopesos #8 5 (=
2 |BuHTbI 3 HepxaBetoLwen ctanu #6 | 6

3amMeHa namMmnoYku

CnugomeTp GE No. 194
TaxomeTp GE No. 194
YpoBeHb Tonnuea GE No. 658
BonktmeTp GE No. 658
Temnepatypa Bogbl GE No. 658
[aBneHne macna GE No. 658

6rnok ocBeLleHns

Jlamnouka

%@F

CseT onpasbl

Pycckuin

2u3b



1S0334

YcTtaHoBKa HdaTtumk oTBepcTue

1. OTcoeamnHNTE MUMHYCOBYIO KIIEMMY aKkKyMynaTopa. CnmaomeTp 85 MM

2. Ecnu Bbl He 3aMeHsist cyLLecTByoLWMNE KanmbpoBKkU B TUPE, HAUTU MECTO TaxomeTp 85 MM
YyCTaHOBKU ANns gaTtymka (oB), KOTopble 06ecne4ynBatoT yno6cTBa YTeHus ¢ YpoBeHb Tonnnea 53 MM
nosuumn onepaTtopa. MNpoBepbTe eCTb AOCTATOMHO pearbHbIi
MPOCTPAHCTBO 3a MECTO YCTAHOBKM AN YCTAHOBKM AaTymMka U caenatb Bonbkrmetp 53 Mm
COeNHEHMS, ecriv 3TO HeobBXoaANMO. TemnepaTypa 8Os 53 MM

3. BbipexbTe oTBepcTME B NpUBOPHONM NaHenu AN KaXaoro Aatyuvka.

P o P P P A A 'EE [aeneHue macna 53 mm

WNcnonb3yiiTe guarpammebl, YTobbl onpeaenvTb NpaBubHbIA pasmep

OTBEPCTUA.

4. YcTaHoBUTE OaTynK B MOHTaXXHO€E OTBepCTUE U NpoBEpPUTb, NOOAXOOANT.

5. YcTaHoBUTb AaTuuk (M) ¢ Mcnonb3oBaHNEM MOHTaXHbIA KPOHLUTENHS
packon wanbbl U NaTyHHbIE ranky, Kak Noka3aHo Ha creaytoLlen
CTpaHuue. 3aTaHuTe ranky nanbLa nnoTHO, UCMOoNb3ys TOMNbLKO 6 AIONMOB

(byHTOB KPpyTALEero MOMeHTa.

lMpedynpexdeHue:

He 3aTdarnBainTe rankm kpennenus. 3a 3atarMBaHne raiku MOXeT TPECHYTb
KanmobpoBOYHbIX XWUbsl, MOHTaXKHbIV KPOHLUTENH UM MOHTaXXHOW MaHenu.

6. PekomeHayeTcs M30NMpPOBaHHbIX KNeMM NpoBoAa, NpeanoyTUTeNbHO
KOSbLOM TUM UCMONb3yeTcs ANs BCex noakntoyeHuin. CeeT cBsa3n cbopke

TpebyeTca 6 MM XeHLMHa TepMMHana ne3sus.

Cnudomemp/lMumo coeduHeHusi

6ok ocselleHns

Jle3Bue TepmuHan (-)
(8emnst)

nessune

TepmuHan (+)
(oT uenu oceeLleHnst)

85 MM A€eHb.

MoapoGree  ppiemka - /
(ecnu Tpebyetcsi) pr6b|

KpblLUKa

NPUEMHMK
BO3AYLUHOrO
[AaBreHus

1.HanTtun n yctaHoButb cbopky Tpyoke NMnTo Ha TpaHue B

BepTUKaSIbHOM MOMOXEHUK, No KpanHen mepe 153 Mm
OT KOHYMKOB BMHTa nessue. [puem oTBepCcTHE Takke
JOIMKHO BbITb 38 MM 1nu 6onee HMXe HUXKHEN YacTu
kopnyca. He ctaBbTe 3a ntobon 6eryH unm kuns, Tak
KaK 3TO BMSIET Ha €ro TOYHOCTb.

. Hangute ynobHoe mMecTo Bblile BaTEPNNHUM OOBECTU

TpybKy o koHua. [Npoceepnute 6 MM OTBEPCTME B
3TOM MecTe M TaHyTb TpyOy A0 koHua. Micnonb3oBaHne
MOPCKOW repMeTUK Ha KpbILLKY NAWTbI U caenatb
NNacTUHbI NIOTHO NpUneraeT K TpaHLe NOMOLLbH
BMHTOB. HaxxmuTe Tpybbl MOMHOCTBIO HA HapPY>KHOW
pe3bbon no coopke MNMuto. MNMpoknaagka uemeHTa unu
Apyroro knesi He TpebyeTcs, YToObl 0b6e3onacnTb
Tpybonposog Ang apmaTypbl.

. 3anyck Tpybbl BOOMNb BHYTPEHHEN CTOPOHbI BopTa

nogku. N3berante pesknx NnoOBOPOTOB, ONPECCOBKA,
netenb U ApYrux cur, KOTopble MOTyT YMEHbLUINTb
BHYTPEHHUI aunameTp Tpybbl. 3akpenute Tpybbl Yepes
perynspHble NPOMEXyTKN BpeMeHU ¢ He6oMbLLIMMM
NNAaCTUKOBBLIMU 3a>XKMMaMU NOCTaBNSATCS (ONATh Xe
OyabTe OCTOPOXHbI, YTOBbI HE 3aXKUMaTb
Tpy6Ky).HebonbLLon HaknoH BHU3 OT HOCa A0 KOPMbI
NnomMoXeT usbexaTb 3axBaTa BoAbl. He kaTyLuku
NWLWLHIOK TPYBKY, KaK 3TO U JOIMKHO BbITb COKpaLLEHO
00 HY>KHOW OTMHBI.

. Mocne ycTaHoBKM CNAOMETP Ha NpuBopHON NaHenw,

Bblpe3aTtb TPyOku (0CTaBnTb HeOONbLLUYIO crabuHy) u
HaXXMUTE MOSTHOCTbLIO HapY>XHOW pe3bboi Ha 3aaHen
YacTu cnMaoMeTpa.

Pycckui

3usb




1S0334

Konmponb ckopocmu coeduHeHusi

nessue

TepmunHan (+
(oT uenu oceelLleHns

6rnok ocBeLleHust

85 MM f€eHb.
3axuraHune

perynuposka

CoeduHeHus1 ykazamerie ypo8Hsi moriiuea

C nomoLLbio HEGONbLLOW OTBEPTKN, CIierka Haxatb U
MOBEPHYTb NepeKNtoYaTenb Ha 3agHel NaHenu
TaxoMeTp B NpaBuiIbHOE MOSI0XKEHNE B COOTBETCTBUM
C YMCNOM LMNUHAPOB (CM. 3TUKETKY Ha CTOPOHE
TaxomeTpa). Haxxatve nepekntoyaTens CrimKOM
CUIbHO, MOXXHO NoBpeauTb TaxomeTp! Yoeanteck, UTo
nepekrntoyaTens 3abnokupoBaH B hmkcaumm B Hy>KHOM
MONoXeHN, crnerka BpallaLwmncs nepeknoyaTenb
Brepen 1 Hasag C NOMOLLbIO OTBEPTKMU.

Bonbmmemp coeQuHeHus1

nespue

TepmuHan (+)
(oT uenu ocBeLLeHnst)

6rok ocselleHns

53 MM f€eHb.
3axuranue

TepmuHana (1)
(Ha 3axuraHue)

d Q)‘ & ,/’%
g N N
T
CurHan TepMMHa% ~
N

3emns (GND)

nessue

TepmuHan (+)

(OT Luenu ocBelLenus) 6ok oceeLeHus

3axuraHne

TepmuHana (1)
(Ha 3axuraHue)

3emns (GND)

CneuuarnbHble crieayeT NPosiBMsATb OCTOPOXHOCTb NpY paboTe Ha UMM BOKPYT TaHKK, KOTOPbIE MMEIOT I UMENU

TOoMnnmMBa B HUX.

CoeduHeHus1 dam4uka memrnepamypbi 800bI

CoeduHeHus1 usmepumenb daesieHuUs1 Macna

nespue

TepmuHan (+)
(oT uenu ocBeLLeHnst)

6rok oceelleHus

53 MM A€Hb.
3axuranue

TepmuHana (1)
(Ha 3akuraHue)

MNepepava
YCTaHOBUTb
(He BknioueHbl)

Curnan Tepmunan (S) 3emna (GND)

nessue

TepmuHan (+)
(oT uenu ocBeLLeHust)

53 MM AeHb.

SaxuraHne

TepmuHana (1)
(Ha 3axuraHue)

AasreHuns
(He BkntoyeHb!)

Cwurnan TepmuHan (S) 3emns (GND)

Pycckuii

4usb




1S0334

Bbi60p Hadnexauje2o omnpasumerns

OTtnpasutenen o6o3HayveHbl cneaytome OnMcanmnes 1 4ormkeH 6biTb BbibpaH B koMBGuHaumm no ogHomy
n3 A, B n C. (Hanpumep: OgHon CtaHummn, AmepukaHckun ConpoTtusneHune,CtaHgapT OcHoBaHume)

OavH
A CtaHuus 'D', =
[1BoHOM
b[ AmepukaHckas
B CONpOTUBIIEHNE ——
EBponenckum
c CraHgapTt
C OcHoBaHune A p,
Mnasy4nn

MpumevaHus:

a. CtaHuus: OT0 oTnpaBuUTENs, KOTOPbIN ABNSETCS YHUKAlNbHbIM B BOMHOMO Ha3Ha4yeHus CTaHuun. [JaTumk Tak e Hu
B OOHOW U ABYX NPUMNOXEHUN.

b. COI'IpOTMBJ'IeHI/IeZ Bbl66pVITe oTnpaBUTENA 3NEKTPU4ECKN BaLuemy KaJ'IVI6POBO‘-IHbIX HEe TOJIbKO npon3soanTesiemM.
HeKOTOpre npoun3ssoanTenn genarT oTnpaBuUTeNAa N CONpoTUBNEeHNA TUNOB, a TaKKe HEKOTOPble MHCTPYMEHT
npounssoanTesin MorytT ncnosfnb3oBaTtb nm6o conpoTuBneHne B 3aBMCMMOCTU OT TUNa gaT4yuka. CyLLl,eCTByeT npasuno,
He TOJ1bKO BVI3yaﬂbeIIZ crnocob onpegeneHna conpoTmneIiieHNd Tuna.

c. OcHoBaHue: CTaHOapTHbI 3eMnu ABnsieTcs Hanboree pacnpocTpaHeHHbIM, MMEtoLLMX BaTapen oTpuLaTeNbHbIN (-)
noAKnoYaeTcs HenocpeacTBeHHO k 6rioky apuratens. OTnpaBka eauHUL, MOXeT UMeTb oauH (1) TepmuHan (curHan).
B cucteme nnaBatowyx 3eMnu, Gatapen oTpuuaTesibHbIA He MOAKIOYEH K BrioKy ABUraTens Tak NpocTo pe3bbbl Ha
oTnpaBuUTenNsi He NpeaoCcTaBnseT 3eMmnto. MnaBatolwme oTnpaBuTenel semny 6yaeT MMeTb ABa (2) TepMUHarbl (CUrHan
n 3emnis). U oTnpaBuTenb, TepMUHaIbl MOTYT GbiTb MOAKIOYEHbI K COOTBETCTBYIOLLIEMY TEPMUHAIY AaTyMka Uin
3eMJ10 OTNPaBUTENs MOXKeT GblTb NOAKIIOYEH HEMOCPEACTBEHHO k 6aTapee oTpuuaTenbHblin.OTnpaBuTenb
nraBaoLLei 3eMnu MoryT ObITb MCMONb30BaHbl B CTAHAAPTHOWM CUCTEME 3a3eMITEHUS], HO He HAaoGopoT.

OTnpaBuTenu gaBneHus macna

[Buratenu n TpaHCMUCCUKN OCHALLLEHbI pene HU3KOro AaBneHns Macna, KOTOpbIn akTUBUpyeT npeaynpeanTenbHbIn
CBETOBOW curHan TpebyeT cooTBeTcTBYOLWeEro "T" TpybonpoBoaHast apMatypa Ang pasMeLleHns Kak oTnpaBuTenb,
Tak JaBneHune n curHanbHasa namna. bonblNMHCTBO AaBneHus macna otnpasku eanmHuubl ectb 1/8 "NPT pesbbbl u, kak
npaBuno, yctaHaenueaeTcs B brnoke asuratens. Ecnu 6nok nnu nepegayun gena umeet 6onbLUMi pa3mep Tpyobl,
COOTBETCTBYIOLLME BTYNKN MOTYT OblTb MCNOMb30BaHbl 6€3 N3MEHEeHWs1 aBnNeHNsa 30HAMPOBAHNS TOYHOCTU.

Temnepatypa oTnpaButenemn

TemnepaTtypa oTnpaBuTenen goctynHbl Faria ® Marine Instruments B 1/8" NPT paamepoB pe3bbbl. Ecnv Baw
BOASHOW pyDaLLKOW, XWIbe MachsiHbI NOAA0H Un nepegaymn Tpedyetca anameTp pesbbbl 6onblue, yem 1/8 "NPT,
BTYsKka He TpebyeTcs. "T" (PUTUHIN He OOIMKHbI MCMOMNb30BaTbLCS, MOCKOSbKY OHW MOTYT MOBMUATbL HA TOYHOCTb
OTNpaBUTENS MYTEM CHUXKEHMS TEMMNEpPaTypbl CUrHas.

Svenskt 5usb




1S0334

> A B
Fasia Faria 6 282 X G
Chinese (Traditional)
- \ A
1F 22 8E 2 P BB - %ﬁﬁﬁfﬁf%[tb%%ﬂuﬁﬁ%TE@%@%?&% KT9797 KTFO001
o INTENTRERVHEAE B A - i R ] R B AR IREE > ] KT9798 KTF003
BEEBR B AR - B /KIBEU MRS & BB 5 DU (R 25 - KT9799
RV » ARA T | YV (0 PR B A 30 T (AL -
B LLESNELE - B SR S EEER A E B LAY G
oY EE RS B R R T -
S (A S B
=4 A
e 1 L X0,
1| Z&e8E e 2
T AL 000
2 |48 AR
> |rs EmTRE 4 0C©
2 |#8 o EpE
[L Vi,
B B
1 et | 9
1 |z >
FEAS T H A 00000
7 |#10 SRR
4 [#10 FEli AR 4 9@@@@
4 |#10 o2
LSS
E Bl
1 |k tist 1 0 )@
1 |Zesm >
s T H A o
6 |#10 HAMERE
3 [#10 Ha T E 4 00©0©
3 |#10 75 BB 5
Y= EGlE! 9
— 0
1 |EEEE 1 A\
1 |ZesEsen D
T 00O
4 |#10 $fERS
2 w10 SR 7 00O
2 |#10%F 55 B

X (R 1145



1S0334

S 7Sl
B O
1 |KERIRE 1 0
| [2esEsom 2
T EE T 5 A o
6 |#10 SRR
3 |#10 FH T 4 0 G0W©
3 [#10 H75r B
B %
B HH
|| g ] 0 )
| [gesssep 2
S T L A
6 |#10 SAEZRE °000
3 |#10 i TR 4 ICICIC
3 [#10 75
W Af
i B
1 |FFE 1
o : i
1 s 3 = O
5 [ SR 4 ﬁia,, 6
3 |EBEET #8 5 R (=
2 | NHEEIZET #6 6
fis Y St
RS GE No. 194
BT GE No. 194
BRI ZE GE No. 658
S GE No. 658
TR R GE No. 658
B R 8% GE No. 658

th7 (2588) 215




1S0334

el it LB
%) EEV= N e R ﬁ@% 85 %ﬂe
1. BRI A T - =
2. MR(FRI R HIGHEN - 8 — B RA % RTER SRR
B - (R B O B GLR G T TR - A R R [ R 53 K
ERRER ST - REEIR ARG BT BRI 5 K
3. VIFLIE A BT - (8 ERATEE EREITLA) - R 5 K

4. FER AL R > iR ESE
5. ZEH B B F oy B BB AN B SR IR AL T H AR BIFE SR © R
(6T~ B RO HE AR BB R ] T -

B

g%ﬁﬁ@%%ﬂ? o jf B P EXARBL AT RERUIR AT PSR - S A B

6. e  ABAAER T RIFAUSEEAL ERIRT AR ]
o BE R BE Pl B TR TR ORI LM T i

FH SR AU
LB 2R R A E ERIRFTE R - FRIRIESE
TIR &% (+), N o ﬁ%%’}\laf)%ﬂé ° ﬁ%L‘@M‘?EIEE38%5KﬁLX_FE@7%L%
(FRPAEES) ?Qﬁ”ﬁ“ B - AEMTMEENEE TR NaEgPEHE

HEME -

2. B — {877 fE R 77 75 AR A B R LA BRI ARTT - fEiE
8 i B I —(H O KRR LA RL I E 18 - (e
BN A AR SR (A PR LAV B - P B e 2 3
BAERERI B - B KB EH AR S BT ELL

BE85E=K,

> (S HE T -
S T, P 3. (T ALHIRLPS - B 2RSS + P 45 © SUELAD
mam B0 ,

IR REE A E AR - BENERRT (BXIER
FNEEIME ) FEERIRHE - AR EM R RYAIE T
BHE - KE B B ENK - ASEAEM 2% SRR EE
% e EZHIBE R R -

4. ZEAEBROFEFER > TIE (F TV EREM)
HHHEEN S E S = B ERE -

X (ZE2) 3HY 5



1S0334

B SR
N Sk ER/NZEZ T RYBRME - IR B IE fEry (i B AR
@g;gﬂﬁé;) e = AR ( R— AR R RAVEE ) TEEEHE
AR — R BRIATE - ATREE RGBSR R | B R
TR hEER AR - R [ RE S E AR IERERY LB
BhNEERE (—) | SHE -
- (25 ABER)
N
BT (+) (BAT) Loy SHET (S)
(B5AEERD) #4 (GND)
IR AL BT R TR
TIE A (+), TIERiE (+),
(FBEAEER) 25 (FREAEERR)
¥a, BE53EK, .
% | 85T (—) e
‘ . } ) BT (+)
s /% | (B6ABERD)
L g % ) @@\{
{ESET (&@:@)@% ~ g O
14 (GND)
LECEE - SAEMAE BRI TAERE - BB R R -
TR P R R R S s 4
TIFH&IE (+); HRE TIEARIE (+), kR
(REER) A _ (RSB ‘
BE532K, BEE532K,

BEHEER (—)
(REXBARR)

B NBEER (—)
(RhAFARR)

(rasd) BRI (S) 31 (GND)

(Rad) fEERIRF (S) #eith (GND)

th7 (EEE) 415




1S0334

BEEREE AT
FENIBELUT A - WATES —ERIAE G2 - (EA » BRIC (FI40 : Biuk - SEEIAIRE ST » T e )

A i @ ..
e b S5
B i el
c R
$ o
¢ L FEED
o, B - U R A AE S AR R - SRR IR - B A -

.o FERE O ERIRA R B T AR RS - AR AR SR E B AR - AT DU — SR as SUE i B A Y
RIS ZRAVER R - BH R A ARy 77 A E B -
c. o MRMEMIE  MIERRE RAVEE MM (-) EREET Sepe - #XEaeE— (1) &6 (E5%) -7
—EFFEI R AAE - Ay B ERR | R EMELR - PR DU TE S AR TR AU - e BB R R AR (2)
i (fE5EH) - SRR IR W] DU B E B & RO AR A I B 3 A\ BT T B B B B R & - — (B B A0 3%
5 AT RE I 2R AE — B E R [ 258 (E B R ZINAR -

B E

R BEES R RER - BOES SR HERTE—REEN T SR - DUAMRE R RS ISR - Rl
IEEAAL/8 NPTEIRA » BE LR REHEIOR - MRRKEHIEFL TEERNEEN ) BENEE AR
A ERIERRERE -

I R
RSN EFEE®IEL/8 "NPTIRAHNEEERS - ARIMAKE » HEFREEEERERE AR EREEEL/S
TEHZREGES " FEE -0 T RECEER - RAESREE BRI ARERE - B TREE -

3z (B56) 505




Thomas G. Faria Corporation
P.O. Box 983

385 Norwich-New London Turnpike
Uncasville, CT 06382
860-848-9271

All Rights Reserved



